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QUESTION 1

Which two statements are true for decision table rules? (Choose two.)

A. They can have multiple conditions, but share only one action.

B. They typically contain a set of rules that covers all combinations or where no two combinations conflict.

C. Both gap detection and conflict resolution cannot be turned off at the same time.

D. A priority can be set for an entire decision table.

Correct Answer: BD

Explanation: A Decision Table is an alternative business rule format that is more compact and intuitive when many rules
are required to analyze many combinations of property values. You can use a Decision Table to create a set of rules

that covers all combinations or where no two combinations conflict.

Reference: http://docs.oracle.com/middleware/1213/bpm/bp-composer- user/ business_rules_bpmcu.htm#BPMCU495

QUESTION 2

Which statement is true about optimizing performance when using the ITaskQueryServiceAPI?
A. Flex field mappings must be requested as part of the optionallnfotask.

B. ThelWorkflowContextmust be cached by the client.

C. The default flex field indexes must be used.

D. Identity propagation must be used.

Correct Answer: A

QUESTION 3

Which two statements are accurate about how ADF Business Components can be used in a task flow for a human task?
(Choose two.)

A. They can create and insert a new row in a database table.

B. They can invoke wildcard control flow rules in the task flow.

C. They can initialize the information displayed on a form when given an ID from the process payload.
D. They can declaratively map database information back into the process payload.

E. They can invoke task flow call activities.
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Correct Answer: BE

QUESTION 4

Which statement is true about BPM Suite\\'s round trip simu-lation feature?

A. Round trip simulation is a feature of a Process Player.

B. Basing a simulation on actual process runtime data can help you find bottlenecks in a process model.

C. Unit test suites can be automatically generated based upon round trip simulation data.

D. During round trip simulation generation, process bottlenecks are identified and highlighted on the model.

Correct Answer: B

QUESTION 5
Which objective can be accomplished by using business rules in workflow routing?
A. Create a new routing rule and invoke it immediately.

B. Create new participants and make them available as targets for routing.

C. Send a routing sleep back to the previous participant for a workflow stage that is associated with a group vote

(parallel) scenario.
D. Make a routing decision before the task is assigned to the next routing slip participant.

Correct Answer: D

QUESTION 6

Which two objectives can you achieve by using business rules to direct human workflow? (Choose two.)
A. Load balance tasks among users based upon server utilization.

B. Redirect the process flow as specified in the BPMN model.

C. Escalate and reassign a task to the manager of the current assignee.

D. Skip all subsequent routing and mark a task as complete.

Correct Answer: BC
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QUESTION 7

Which component enables a shared work environment for a BPM Suite 12c¢ project where process analysts use Process
Composer and process developers use BPM Studio?

A. Oracle Enterprise Repository
B. Meta Data Services

C. Process Asset Manager

D. Apache Derby DB

Correct Answer: C

Explanation: You can use the Process Asset Manager to share BPM projects between the different persons working on
the project Reference: https://docs.oracle.com/middleware/1213/bpm/bpm- develop/bac_bpmpd.htm#BPMPD87526

QUESTION 8

When automatically generating an ADF form from a human task, the difference between using the "Auto-Generate Task
Form" and the "Launch Task Form Wizard" is that the

A. "Launch Task Form Wizard" option launches a six-step "BPM Custom Form Wizard" and the "Auto-Generate" option
creates the ADF project, task flow, and ADF form with one key click

B. "Launch Task Form Wizard" option does not create a new ADF project every time it is run
C. "Auto-Generate" option gives you the choice to use an existing ADF page template as the form is being created.
D. "Launch Task Form Wizard" option automatically creates an ADF page template and task flow template

Correct Answer: D

QUESTION 9

Which two modeling approaches could be used to handle exceptions thrown by a service? (Choose two.)
A. subprocess

B. event subprocess

C. error and event

D. error catch event as a boundary event on the service task

Correct Answer: BD
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Explanation: You can handle the exceptions that occur in an activity using the following:

*A boundary error catch event

*An event subprocessBoundary error catch events enable you to resume the main process flow after handling
theexception.If you want to reuse the exception handling flow for multiple tasks in your process, then
eventsubprocesses are more efficient than boundary catch events. Event subprocesses enable you todefine a cleaner
process with less effort because the catch error event is located within the eventsubprocess. To reuse an exception

handling flow using boundary catch events, you must define aboundary catch event for each of the tasks, and then
connect those boundary events to theexception handling flow.

QUESTION 10

You are testing a deployed BPM application. You start a process instance, but the processing does not proceed as you
anticipated.

Where would you get the most actionable troubleshooting information about your BPM process?
A. SOA server log file

B. Business Process Workspace Process Tracking page

C. WebLogic Console

D. WebLogic Diagnostic Framework (WLDF)

E. Enterprise Manager

Correct Answer: D

QUESTION 11

Which three statements are accurate about BAM 12c alerts? (Choose three.)

A. Conditions are optional settings for constraining the time period in which the alert is fired.
B. An action can invoke a web service.

C. Alerts can be created in either BPM Studio or BPM Process Composer.

D. You cannot create alerts that launch other alerts.

E. An event can result when a CQL query receives new data outside a normal range.
Correct Answer: AE

Explanation: Conditions are optional settings for constraining the time period in which the alert is fired. You can select
any number and combination of conditions.

When you select the event Select a CQL Query, you must select a continuous query from the pop-up drop-down list.
The alert fires when the query receives new data with values outside of a normal range.
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QUESTION 12
Which two statements accurately explain how the Call activity behaves in a BPMN model? (Choose two.)

A. When using a Call activity to invoke a reusable process, the data object values of the calling process are
automatically made available to the called process.

B. The Call activity can invoke a reusable process from within the current process

C. If the process is to be invoked by a Call activity, the called process must start with one None Start Event.
D. At a Call activity, the calling process does not wait until the called process or subprocess returns.
Correct Answer: BC

Explanation: The call activity allows you to call a reusable process from within the current process.

Reference: https://docs.oracle.com/middleware/1213/bpm/bp-composer- user/
app_bpmn_ref_bpmcu.htm#BPMCU87375

QUESTION 13

By default, which two tasks participant roles can change the outcome of a task? (Choose two.)
A. Admin

B. Approvers

C. Assignees

D. Creator

E. Owner

F. Reviewer

Correct Answer: CE

Explanation: The task owner can change both the outcome of the task and the assignments.
The assignee can raise questions about the work, by adding comments into the task to communicate to the owner or

followers about their progress. For example, if an assignee cannot complete the task, they can either change the
assignee back to the owner, or add a comment into the task while changing the task status to "need assistance".

QUESTION 14
Which three actions are available when using business rules for a case? (Choose three.)
A. Activate activities.

B. Set an activity\\'s relevance.
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C. Change a milestone deadline.
D. Change a required activity to an optional activity.
E. Modify case data.

Correct Answer: CDE

QUESTION 15

A task is considered overdue when

A. there are no more renewals

B. the current date is beyond the due date

C. the current date is beyond the expiration date

D. the current date is beyond both the expiration date and the due date

Correct Answer: B

Explanation: A task is considered overdue after it is past the specified due date. This date is in addition to the expiration
policy. A due date can be specified irrespective of whether an expiration policy has been specified. The due date

enables Oracle BPM Worklist to display a due date, list overdue tasks, highlight overdue tasks in the inbox, and so on.

Reference: https://lomonzhang.wordpress.com/2010/07/28/the-difference-of-%E2%80%98due- date%E2%
80%99-and-%E2%80%98expiration-date%E2%80%99in-oracle-human-tasks/

170-435 PDFE Dumps 170-435 VCE Dumps 170-435 Braindumps

170-435 PDF Dumps | 120-435 VCE Dumps | 120-435 Braindumps 717


https://www.certbus.com/1z0-435.html
https://www.certbus.com/1z0-435.html
https://www.certbus.com/1z0-435.html
http://www.tcpdf.org
https://www.certbus.com/1z0-435.html
https://www.certbus.com/1z0-435.html
https://www.certbus.com/1z0-435.html

